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Math 8
Cumulative Review # 2.1
Show work for all questions for full credit 

& write your answers on the lines provided!!! 

(If you feel no work is needed you must explain your reasoning)

	1.
	Which one is the smallest positive integer? 

	 
	A.
	0.00001

	
	B.
	0

	
	C.
	1

	
	D.
	-1











1 ._________________________

	2.
	John drew the graph below to represent a situation.
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Which statement could describe the situation John graphed?



	 
	A.
	The temperature of a frozen pizza cooking in an oven increases 5 degrees every minute.

	
	B.
	The temperature of a frozen pizza cooking in an oven increases 10 degrees every minute.

	
	C.
	The temperature of a frozen pizza cooking in an oven increases 15 degrees every minute.

	
	D.
	The temperature of a frozen pizza cooking in an oven increases 20 degrees every minute.











2 ._________________________

3.  The temperatures on the Moon vary from −173°C to 127°C.  Find the difference between the maximum and minimum temperatures.  



A.  −46⁰


C.    300⁰



B.     46⁰


D.  −300⁰











3. __________

4.  It costs $75 per hour plus a $65 service fee to have a home theater system set up for you.  Let t represent the number of hours.  Which expression represents the total cost?



A.  75t + 65



B.  65t + 75



C.  140t


D.  75t










4. __________
	5.
	There are 28 students in a math class and 23 students in a chemistry class.  If eight of these students take both math and chemistry, what is the ratio of the number of students taking only chemistry to those taking only math.   


5 ._________________________
	6.
	Simplify 
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6 ._________________________

	7.
	Evaluate ab2 – (3ac)2 when a = -2, b = 3 and c = -1  

	
	


7 ._________________________
8.  A family has an income of $2,340 each month.  The family spends 
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 of its income each month on housing.  How much of the family’s income (in dollars) remains after spending 
[image: image4.wmf]3

1

 of it on housing? 

8 ._________________________

9. What is the slope of the line joining (8, 8) and (12, 6) 

9 ._________________________
10.  Solve and check.     


8a − 3(5 + 2a) = 85 − 3a

10 ._________________________
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